
I

H

7

8

9

10

70 " 
MA X

V E SA C ompatible
10 0 x10 0 2 0 0 x10 0 2 0 0 x20 0

30 0 x20 0 3 0 0 x30 0 4 0 0 x20 0
4 0 0 x30 0 4 0 0 x4 0 0 6 0 0 x4 0 0

T V
R AT E D

50 kg/ 110 lbs

DV D
R AT E D

5kg/ 11lbs

Too l ong Too S hort

M-E

M-F

M-C
M-D

M-F

M-H
M-G

M-H

M-G

M-A

M-F

M-B

M-F

V E SA 60 0
V E SA 50 0
V E SA 4 0 0
V E SA 30 0
V E SA 20 0
V E SA 10 0



locking pin

A

2

1 4

5

6

M-E (x4)
M8x50

M-F (x4)

M-G (x8) M-H (x8)

M-D (x4)
M8x30

M-C (x4)
M6x30

M-B (x4)
M6x14

M-A (x4)
M5x14

A (x1) B (x1) C (x1) D (x2)

E (x2) F (x2) G (x1) H (x1) I (x1) J (x1)

K (x6) L (x2) M (x2)
M10x35

N (x2)
M6x35

O (x4)
M8x60

P (x4)
D8

Q (x1) R (x1)
5mm

S (x1)
8mm

Press the locking pin and adjust it to Position 1 as shown.

Position 1

locking pin

Position 1

K

B

C

3

D

S

N
R

F

F

EE
Q

a b c d

G

O

P

R

J

L

M

S

Lock the brakes on the 
casters to avoid any sudden 
movements during installation.

>
10

m
m


	页 1
	页 2

